Why should we adapt to climate change?

° Because otherwise, the negative impacts will be too great.

Because climate change is inevitable.
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Along Australia’s coast, the effects will include inundation because of sea-level rise, storm surge and flooding from rivers.
About 85% of Australians live within 5o km of the coast, where much of our vital infrastructure is located.

> Adaptation is essential.

Actions to limit the negative impacts of climate change and take advantage of any positive opportunities
Although many places and sectors will experience negative effects of climate change, at least in the early decades, climate change
may, in some places, have a beneficial effect.

For example, warmer temperatures may increase crop productivity in cooler regions of Australia, and there may also be business
opportunities. Adaptation is also about taking advantage of these positive effects. Towards the end of the 21st century, it is likely
that the impacts will be negative almost everywhere.
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